
Assembly Instructions
Fanfare Rectangular Adjustable Table

May 2002

www.unicor.gov
800.827.3168

Assemble units as described herein only.  To do otherwise may result in instability.  All screws, nuts and bolts must be checked periodically
after assembly.  Failure to assemble properly, or to secure parts may result in assembly failure and injury. Illustrations and
specifications are based on current product information at the time of this printing.

HARDWARE

#12 x 1" Screw

1/4-20 x 1" Screw

1. Remove base from packaging material.

2. With one leg upright supported, move
legs apart to attach crossbrace 
(Figure 1).

3. Attach the crossbrace to the leg
uprights with four 1/4-20 x 1" screws
(Figure 1).

4. Slide the chain channel into the 
opening in each worksurface support
(Figure 2).

5. Remove the plastic sprockets by pulling
out the cotter pins and sliding the
sprockets over the hex shaft. 
Engage the sprockets into the chain.
Reinstall the sprockets. Insert the cotter
pins and separate the ends to secure.

6. Place the worksurface upside down 
on a clean, soft surface to prevent
scratching. Invert the table base on the
worksurface, taking care to align the
holes with the pre-drilled holes in the
worksurface. Secure the table bases to
worksurface with fourteen #12 x 1"
screws. Tap in four worksurface support
plugs (Figure 3).

Figure 1

crossbrace

leg upright

1/4 - 20 x 1" screw

Figure 2

chain channel

Figure 3

table base

#12 x 1" screw

worksurface
support

worksurface
support plug

worksurface
support



Fanfare Rectangular Adjustable Table Base - Assembly Instructions

Assemble units as described herein only.  To do otherwise
may result in instability.  All screws, nuts and bolts must
be tightened securely and must be checked periodically after
assembly.  Failure to assemble properly, or to secure
parts may result in assembly failure and injury.

7. Carefully turn worksurface/base
assembly upright and adjust 
worksurface to desired height with
hand crank (Figure 4).

8. The four glides on the table base feet
may be adjusted to accommodate
varying floor surfaces. Lift the base off
the floor and turn the glide clockwise
or counter clockwise to adjust.

Figure 4

glide

hand crank

©KI 1999  Litho in USA  Code OE-60838/KP502


